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3|__1[1305|fF ;é?% USHeKSC 4 16.63 4| _1]1819 #x BF mw&aaj 4 15.94
2[2604|= *”ﬂ;é EO—RE2T 4 17.38 2[1217|338F m RARAC 4 16.51
31217 T4 B RAAC 4 17.82 3]2604|=1E HfE ﬂf’r’m REJ 4 16.82

B[ 4[1212[EH At Fa LI 4 18.12 Bl 4|1121EH & HRJ 4 17.12

2.7 _5[1518]/\HH #&A =k 4 18.15 | 3.5|_ 5|1523|9H & AZSC 4 17.16

m[_6[1301 4K BFEE[JXEAC 4 19.86 m|_6]2906[Ea8 Bl FEE/N 4 17.22
7|1216[/\ik_FIF HiBAC 4 20.90 7] 1301[J11%F Fa2d JZEAC 4 17.23

| [ 8[1119[F) &% HARE 4 21.52 8|1119[Fy EE HARSE 4 19.43
5 1[1217[88K %0 RAAC 4 16.70 6| 1]|2808|/KF 1_1# AIEILE S 4 15.94
2[1212[FE #kiE FLLEA 4 17.19 2(2702| 8% 5 Sy ES -k 4 16.36
3[1705|=4& Hl BREISARI—Z_4 17.52 3[2606|F+t B2 ESE_/\FR _4 16.85

Bl 4[1228[XFD FEHE [10015&5> 4 17.73 B| 4[1203[a[H E33 HEAC 4 17.07

3.9 5[2606|ZH i EEE_/\ER 4 19.12 | 3.3[ 5[1311[#E &K TEFKSRC 4 17.42

m 1615[Ff IBR JRC?#(Etb 4|0P[<16.99>] m| 6[1119[FEN Bk HARR 4 17.45

1203[ILRX EEE [HEAC 4 DNS 7|1121(&88 1% HRJ 4 17.59

[ 11190|FE & HARE 4 DNS 811228 = 100152 &3> 4 20.90
7 1[2702[lLA #04E Sy ES D5k 4 15.66 8| 1[2702|XARE = Sy ESI5—k 4 15.31
2[1203[EIH = HEAC 4 15.95 2[1217]#0 HHElé ZAAC 4 16.91
312171l BE RAAC 4 17.12 3]2919[1kO Beeh—Y 4 16.93

B[ 41121 K% %%i HRJ 4 17.20 Bl 41121 B %"% HRJ 4 17.52

1.4 _5|1228|FH Z=gZ 10015>&5> 4 17.27 | 3.1[ 5[1228[kK& WEF [10015>&5> 4 17.86

m|_6[2924|ikA H# APREELLSC 4 17.40 m|_ 6[2606|3iH B FEPE—/NER 4 18.12
7|1119[ K& #8% BHAR 4 18.43 712924|z#& & NG I 18.78
812606|FA ft=E EEfE_\ER 4 21.90 81 1518|F&ME L& =M 4 20.18




RESULT

9| 1[1121|A4EH EF [HRJ 4 15.82 10 111211 S HRJ 4 15.38
2[2702| = = SvoELJT -k 4 16.25 2l1602|#E & FRASESRC 4 15.83
3[2924[{FE BT ABRIELLSC 4 16.27 3[1217]%8% =R RAAC 4 16.03

Bl 4[1217EE iE FZARAC 4 16.29 B 4[1518|FK K& = HM 4 17.26

1.0 | _5|2914|6H B¥ ZORRI1ZT 4 17.05 | 2.7 _5[1201BH EEET |[REZ1=7 4 17.75

m|_6[1228[FH —1E 10015285 4 17.83 m[_6[1119[dhft HRZ [#HHBR 4 18.02

7]1518|#ER R = HEHK 4 18.73 7|91910(F/Il Z=EfE —:a(_ 4 18.08

1119 Pgics BERE 4 DNS 2606[7uts & EEPE_INVER 4 DNS

11 1[1217[4e8es <5a7 RAAC 4 15.03 12| 1[62903[7T_ HL) ?ﬁBACJr =4 15.83
21121 |SK BR HRJ 4 15.19 211602122 dhE FRAESRC 4 15.89
3[1228[1LO &R 10015>&5> 4 17.41 31119k EAx HHEE 4 16.11

Bl 4]2606|AAER Fidh [FEIE_/IFER 4 18.01 B 4112110 O7E HRJ 4 17.23
1.3[ 5[o1ot0[E FEiE =E(&E 4 18.14 | 1.8] 5[2606[#/ K FEE EE_NFER 4 17.23

m| 6[1602[BF+ 2 FRAESRC 4 18.35 m{_6[91910]JI[0 EBE _:r:( 4 18.01
7[1119[AE HHBR 4 18.85 711228[/\E FAE 10015285~ 4 18.32
81201 E1F IFE= WH>1=-7 4 18.94 81518 FH Ex EHEHE 4 20.32 |

13| 1[62903|F%H #04 SEACIr. () 4 15.43 14| 1[1201[5FH 0OOH WREHZ1Z7 4 16.17
2[1228|KAZE #E [10015>&5> 4 15.97 2[o1910[#8 K FF =E= (& 4 16.61
3[1201[ AT BER WH>1=7 4 16.37 3]1228[# FIF 10015>&5> 4 16.69

B| 4|1602[EBY BE FRAESRC 4 16.73 B| 4|1605[EH BExE [FAU-bhxyh 4 16.83

2.9 5[1119[KF Fi& HHABE 4 17.48 | 2.6] _5[1119|gIH 15388 HHBE 4 17.28

m|_ 6[1234| FH = EFE 4 17.53 m| _6[1234[F 3R EEE_ 4 17.52
7]1518 jl:# %E& S 4 17.67 7| 1518[Ef & E K 4 17.52

| [8[1120[F BTty EE 4] [18.96 8[1602[|IH & FEAFSRC 4 19.10

15| 1[1201[dies #thaE [REZIZY 4 15.93 16| 1[1201[KHI fE=x]3 |[REHI1ZF 4 14.67
2[1518[fRA #& =k 4 16.24 2| 1518[iR%! =73 SHEHK 4 15.89
3[1228[ZH EFn# [10015 &5 4 16.82 3[91910[ILIF ADOF =F= (&= 4 15.98

E| _4[91910[#H HZE == (= 4 16.87 B[ 4[1305[#K EE USHeKSC 4 16.06

2.7| _S5|1119[FH 1&K7E WHAR 4 17.27 | 3.4| 5[1228[F® —1t 100152 &3> 4 16.92

m|_ 6[1234|=H ¥£= EPE 4 18.01 m|_ 6[1618[B&X E FERERE 4 17.84
7{1120][/v 0 ZEBX SERPyTAR-YOEE 4 18.06 7111208 FR BR2HIR-YOEE 4 17.91

17| 1[2812| K[ 1%‘;*;? =H# ) AC 4 15.95 18| 1[1305[/MII & USHeKSC 4 15.87
2[1201 [BAX FE WH>1=7 4 16.08 2| 1518|'\&F E=% EHEA 4 15.98
3[1702[ AR ¥E FEINTYTIL 4 16.25 31401 [5H B& BE)I[EEELYST 4 16.59

B| 4|1234[1E KBS EFE— 4 16.51 Bl 412168 L FiFE BIEAC 4 17.02

2.9 5[1120[8fH XidsE |sszeovk-veem 4 16.87 |3.0 [ 5[1104[&)l #&& EXH50 4 17.19

m|_6[2604|5F4d & EMO-—RE>D 4 16.97 m|_ 6[2604[BER XR= EAO-FE2T 4 17.44
7]1305[ 7Rk BEAR UBHEKSC 4 18.36 7] 1120[30H #=%E B2 FyIAR-yOEE 4 18.55

19| 1[1305|K% &EH USHEKSC 4 15.11
2170255 #= EM7vTIL 4 17.19
3]2604[1LEF & EMO-—RE>T 4 18.28

E| 4|1518[#4 BZ (LN 4 18.50

2.7|_5[1819[TH = SUlfEESST 4 18.96

m 1217[8BK 15 FAAC 4 DNS

1200[EEH =& EARY 177 4 DNS
SN E# 2 SoER |
1[1201[ KAl By |[RES1_) 4 14.36

R [ 2[1217[fEA <3 RAAC 4 14.85

B | 3[2702| AAR ZE SvoESH5—k 4 15.13
4|1121 (5K #E HRJ 4 15.19

iB| 5|1305[k% &EH USHeKSC 4 15.24

2.4 6|1121[aM EX HRJ 4 15.26

m[_7[2702[ LA FfE SvoELH5—k 4 15.57
8[1305|Z: 18 USHEKSC 4 15.60
= 5&8F 100m

Y

HIE == | K = BiiEE = = B &s [ % i 3 sl

1| 1[2804|F& EA Tt/ NER 5 14. 08 2] 1]62902[FF5 440 @~F |E®Es - () 5 13.96
21801 [# = RICHIAC 5 15.30 2162903 KT Z:HR =#ACIr. (=) 5 14.75
3[1305|70H EF] UBHEKSC 5 15.55 3|91910[FfrE BE |[=FE(F 5 14.86

B 4[1301[X BT JXEAC 5 15.61 Bl 4[1201 (=M X2 WREHZ1=7 5 15.36

2.2| 5[1234[%E & BPE 5 16.74 | 3.7| _5[2912|3rH —i& EE 5 15.76

m|_6[1514[fA i JIEREFRC 5 17.22 m[_ 6[1236|AKTF IhAk BSHELF 5 15.92
711212[F942 &3] ELL 5 17.47 7[1200B%& [55:_ BAY 177 5 16.47
8|1228[=% N 10015>&5> 5 18.06 811228[=111 = 10015>&5> 5 17.85

3 1[1311[)1IBs BE ZEFKSRC 5 14.78 4| 1]2702[F1E L’.-E SvobE )-8 5 13.44
2[1217[# FNER RAAC 5 15.10 2| 12285 i 10015>&5> 5 14.38
3[1701[ILE 3EA JACREE 5 15.83 3] 1705[=RM H— PRy 5Amw/—Z_ 5 15.00

B| 41228480 IEEF 10015>&5> 5 15.89 Bl 41217 =8 #F RAAC 5 15.16

3.1 51216 J:E? [ZIN BEAC 5 15.94 | 3.6] 5[1119[[FH @& YHEE 5 15.73

m[_6|o1910[ILA ==} =E£&) 5 17.10 m[_6]2815[8%A& =& h—8ILZR—Y 5 16.43

712604 |#EFH gk  [AIO0-R¥>Y 5 17.87 711523 %7( [FrE KESC 5 16.69
1518151 0% ={aak o 5 DNS 8[2812[= ¥AKEA =M IAC 5 17.12




RESULT
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5[ 1 UBPEKSC 5 14.44 6] 1 HEJR &8 H) JIEREFRC 5 14.91
2 parly s =] 5 14.57 2 IR RETN e 5 14.94
3 ZARAC 5 15.59 3 b Sit USHeKSC 5 15.21
Bl 4 BEFH5D 5 15.60 Bl 4 H EX RICHIAC 5 15.72
.85 10015>&5> 5 15.82 9 5 = BB JREAC 5 15.73
m[_6 JREAC 5 15.86 m[_ 6 T XziE [EUH 5 16.80
7 HRJ 5 16.02 7 B BT 10015>&5> 5 17.48
| | 8 Ea Ll 5 16.40 gl =X REPTEC(ZR)  5|0P[<16.24>
7] 1 WHS1"7 5 14.34 8 1 i A BIEAC 5 14.23
2 RICDIAC 5 14.49 2 B8 F=FF |[JACREmE 5 14.32
3 FHR/INFERR 5 14.71 3 A FIRk ARFILNSC 5 14.64
Bl 4 EAY 177 5 14.80 Bl 4 /NR BB EO—RE>J 5 15.28
85 JZEAC 5 15.11 35 fith BEE ==& 5 15.56
m[_6 e 5 16.07 m|_6 $iEH 28 [JEEKA C 5 19.24
7 10015>&5> 5 17.91 XTI B F#ACIr. (50 5|OP|<17.05>
FHACIT. () 5 <15.96> )] BEES BAS177 5 DNS
o 1 AZSC 5 14.12 o 1 SH &N UBHEKSC 5 14.45
2 RARAC 5 15.02 2 pisa il IREJ SR/~ 5 15.13
3 10015>&5> 5 15.21 3 P BoE RAAC 5 15.33
Bl 4 ==& 5 15.35 Bl 4 Ath —&H RJ=LZ 5 15.71
35 EI0—RE>4J 5 15.37 4[5 = Sv B P5—h 5 16.62
m[_6 =M% 5 16.22 m[_6 JIAF #AAEB [10015>&5> 5 17.18
7 =tR) AC 5 16.65 7 TIH BRES HEAC 5 17.58
8 EiE ZA [JACRE 5 16.88 8 R A HHABE 5 18.51
1 HRJ 5 15.70 2 1 NE BX RICHIAC 5 14.30
2 FulBEEI5T 5 15.71 2 $AR 15ED PIEREFRC 5 15.77
3 JZEAC 5 15.76 3 EXHESS BIRNFR 5 15.85
Bl 4 Fa LI 5 16.15 Bl 4 J\T i JREAC 5 16.65
4[5 UBPEKSC 5 16.40 A5 I —fE 10015>&5> 5 16.66
m[_6 10015>&5> 5 16.79 m[_6 AR g |[BETEI5T 5 16.82
7 N JIEBEFRC 5 16.80 7 MR Ef UBSHEKSC 5 16.98
A 2o [REFTFCR) 5 <15.01> 8 JEH IR ELLA 5 17.04
31 JEEKA C 5 15.00 4] 1 WM 8k ZARAC 5 14.45
2 JREAC 5 15.19 2 Bt B& JACREmM 5 15.31
3 JACRE 5 15.51 3 7ot EA EAY 177 5 15.62
Bl 4 EFE_ 5 15.73 Bl 4 14 &EA AZSC 5 15.70
0[5 WHA>1=7 5 17.21 35 FH &% ==& 5 15.77
m[_6 ma LI 5 18.63 m[_6 HD BT FEHO—RE>J 5 16.97
7 10015>&5> 5 19.44 7 i = EEE_/I\FRK 5 17.08
[ REACI . ()5 <14.37> 3 A 1o EHH 5 17.70
15[ 1 =) AC 5 14.25 6 1 e XS] JREAC 5 13.59
2 UBPEKSC 5 14.44 2 [REH FE— HRJ 5 14.37
3 Sv S5 —h 5 14.54 3 s K— Sy E 95—k 5 14.83
Bl 4 HIEAC 5 14.77 Bl 4 24X HE =tRIAC 5 15.13
.65 10015>&5> 5 15.05 5[5 B GRE F=AILAR—Y 5 15.15
m[_6 RAAC 5 15.67 m[_6 P e UBPEKSC 5 15.25
7 HHAR 5 17.13 R B 10015>&5> 5 DNS
8 PR S MW= _5 18.03
71 JAEAC 5 14.49
2 RICDIAC 5 14.63
3 BEEH5T 5 14.94
Bl 4 PIEREFRC 5 15.36
49[ 5 RARAC 5 15.88
m[_6 10015>&5> 5 17.39
7 LI 5 18.42
JIg | e ¥ sl
1 SvoE G-k 5 13.56
R JZXEAC 5 13.84
B3 B/ NER 5 14.19
4 HIBAC 5 14.44
B[ 5 AZSC 5 14.50
1.2[_ 6 =t AC 5 14.52
m[_7 RICHIAC 5 14.55
8 JACERE 5 14.60




RESULT

5&FZF 100m
i
EANAESS s % E RS s = s |
1|_1]1801|7aH x4:m | RDIAC 5 15.05 2| 1[01905|EA 1R FORAC(R) 5 15.01
2123400 £550 N 5 15.53 21217 B=2  |[Z%AAC 5 15.85
3[2812|5R R = AC 5 15.66 3[1236]F4t #c/hZE |EHREL 5 16.66
Bl 4[1301|FEH BES JREAC 5 15.86 B[ 4[91910[#2K Fih =—=(= 5 16.70
3.2 [ 5[1228|A00 =& 10015&5> 5 16.19 |4.3 1119|FE 25 MHAE 5 DNS
m|[_6[1701[ FIll & JACSm 5 16.27 m 16029 %&E RAESRC 5 DNS
712702[3E)11 & Sv e 5=k 5 16.80 1228 FEF [ 10015>&5> 5 DNS
1311 KA THKSRC 5 DNS 2923110 #A%E EIEGT 5 DNS
3|_1[1605|4A) %5 7A)—hRYE 5 15.56 4| _1|2901|Bm =4% S1LZARC 5 14.49
2[1216[#E T3 ATEAC 5 16.07 2[1200|EE &F EXS 177 5 14.78
3[1602| 280 =it SRAESRC 5 16.08 32604 |EE & EAO—RET 5 15.40
Bl 4[1228|EH *X& 10015>&5> 5 16.10 B| 4]1104|HE 8% BEEI5J 5 15.44
2.6 [_5[1234[mkiT =& N 5 17.25_|5.4 [ 5121788 t¥% FAAC 5 15.55
m|_6[1705|FF %L F [REJ5AMI—Z 5 17.29 m[_6]2702[Ei F& /v/t/w K5 16.08
7[1212 /M NG = ! 5 17.35 7[2606 %rﬁ E%% EBE_NFR 5 17.24
| [ 8[1801[&2 L, RITDIAC 5 18.76 811301 [N &1 :IX’EAC 5 17.54
5| 1[1518| FH & = A 5 15.71 6] 1[1201 ﬁm e RS 17 5 14.88
216024118 %238 FRAESRC 5 16.20 2[2604[88F AE EMO—F¥29 5 15.38
3[1301[1EM Bk JZXEAC 5 16.29 3[1701[ Eill Z=E JACEE 5 16.37
Bl 412125k =2 FaLLIH 5 16.35 & 4[1301[HF =EX JZEAC 5 16.48
5.1 5[1234|&mk BHE =g 5 16.54 |3.8 | 5[62903|FEH #AIE FHACIr. (%) _ 5 16.85
m|_6[1228[## @m= 10015>&5> 5 18.15 m[_6]2606]LE Hx EebsE_/\FR 5 17.06
1121[&F R HRJ 5 DNS 7[1401[\K 0T H u% I[BEELEYST 5 17.71
[ 1216[1IF =5 FEAC 5 DNS 8l1104|EE #& Y BET57 5 19.49
7] _1[1121[KIE =i HRJ 5 15.66 8| 1[1119 E%’s}% BE THBR 5 15.58
22702 ﬁ/zia HEE Sy ESF5—K 5 15.77 2[1217[208%F &1t ZAAC 5 15.85
3[1301]&8 5& JZEAC 5 16.71 3[1228[&H == 1001585~ 5 16.03
B[ 4[2812[ AN i@ SHJAC 5 16.82 B[ 4[1216[EW & ATEAC 5 16.21
3.9 [ 5[1212[0lE ;T#175 [ELLME 5 16.83  |2.8 [ 5|91910[FhE k= ==& 5 16.68
m|[_6[1602[AE = RAESRC 5 17.34 m[_6]1203[ILA &= ERAC 5 17.05
T1234 5 25 EBE_ 5 17.98 1705[4Z1L_#07E PR 5AM) —X 5 DNS
1228 [ Bf =7 1001585~ 5 DNS
9| 1[1801|EH =P TRCDIAC 5 13.98 10| 1|1217|AF %ﬁ RAAC 5 15.64
2[1305[% % &3 UShEKSC 5 14.69 2| 2606/ &= EEfE_/\FR_5 15.83
3[2812FH % S AC 5 15.49 3[1104[KZ] tx? B*E’Jjj 5 16.09
B[ 4[2702[HbR 1&F Sv S5k 5 15.73 @l 4[1121[FA xffﬁ HRJ 5 16.11
1.7 [_5[1234[8IT B EEE— 5 16.60 |3.5 [ 5|o1010|as & =E(X) 5 16.77
m[_6[1301[hEa LE JZXEAC 5 16.88 ml 6l 160250 =B FRAESRC 5 17.86
7(1228|5H = 10015>&5> 5 20.05 7(2923[BF W55 | HiFHR 5 18.00
11| 11602 EA & RAESRC 5 15.31 12[ _1|2016[08 =& DR \ER 5 16.08
2[1216|=H #thr | HIEAC 5 15.68 2[1104[[7 EE¥ EEH5T 5 16.45
3[1228[=#& %18 10015>&5> 5 16.16 3[2604|5A& RLE |[EMO-—FFT 5 16.74
B 4[1234|5% =s EEE— 5 16.84 i&[_4[1605 HEH Y [7XU—Fxvk__ 5 16.80
3.1 [ _5[1705[ILEH {65 BREI5 A —ZX_5 16.86__|3.2 [ _5[1200[HF i %zls/ 177 5 16.98
m|_6[1235[E 18% JEEKA C 5 17.22 m[_6]2606[%& LHE EEfE_/FR 5 17.23
1212|BA T maLLIFH 5 DNS 7[1301[Zx 5% :IZ%AC 5 18.52
13[_1|2812kH E% = AC 5 15.06 14| 162003 =& WAL, (2 5 15.14
2[1301[HIEH #ifE JZEAC 5 15.41 2| 1602[8557 Ap RAESRC 5 15.24
3[2702|EEW BEF [Sv B F5—k 5 15.42 3121208 = FaLLIA 5 16.05
Bl 41121 —= P HRJ 5 16.64 Bl _4[1702[HfF Bx ﬁJ\IIPwJ")L 5 16.09
4.0 [ 5[1234 _,ﬁ AEBE | EFE_ 5 16.91_|5.6 [ _5[1518|/5F HhA FH#A 5 16.80
m|_6[1228[Ax Mt 10015>&5> 5 17.14 m 2604|532 ¥ EM0—F5o7 5 DNS
7162004145 E5E RETFC(R) 5 19.28 1216| KT B F1EAC 5 DNS
g | F= | K g% = SOFk
1[1801[EH =0 TRDIAC 5 14.28
R [2[2901 B =4% HLARC 5 14.71
B |_3[1305|F+ & Q5PfeKSC 5 14.90
4[2812[5kH &% =HJ AC 5 14.91
i8] 5[1200[B&E #F EAS 1T 5 14.94
1.8 _6[1201 @0 fEEE ([RES1-) 5 15.20
m[_7[1801[FH x4B |R(cHIAC 5 15.60
8116028237 Z=HB FEATESRC 5 15.82
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RESULT

6FEEF 100m
Y7)%E
HIE [ s K & s = e FESS B = sl
1|_1[1819[thn A FULEFIST 6 13.87 2| 1]1104|MA rxis EED5J 6 13.92
2[1212|R% %iE =] 6 13.93 2[1236|HEF jE HHEF 6 14.09
3[1301[A®E WABRE |[OXEAC 6 14.04 31311 B g ZEKSRC 6 14.48
B[ 4[1401|5 A E/EEEIST 6 15.41 B[ 4[1801[dt/ #kE RIZDIAC 6 14.49
4| _S[1121|&%H R4 HRJ 6 15.91 .6 |_5|1301[gg%% FLAH JXEAC 6 14.49
m|_6[2924[iTH B4 ABRIEILSC 6 16.49 m|_6|1228|EH = 10015>&5> 6 14.49
7(1234[FAH =& EPE— 6 17.33 7[2812|FE =1t =W AC 6 15.07
62903])1[}%8 A FEACIr. () 6 DNS 8162003 |4iB J53 FHACIT. () 6 15.72 |
3[_1[91910F K& =—E£(X) 6 13.33 4 1[1119|RI%F &5 HHAR 6 13.57
2|1104|HE =43 EEXH5J 6 13.97 2| 1305|EE & USHEKSC 6 14.20
3[1624[HIR SZAE |RU=AZX 6 14.75 3[1217]=F & RAAC 6 14.21
B[ 4[1212|BHF &= |[mLHE 6 15.00 B[ 4]2606[3H 7 EEE_/N\FR 6 14.21
6| 5[1235|E8& —%& JEE/KA C 6 15.52 4 _5]1624[sE EA NJ LR 6 14.35
m|_6|2604[i%a1 A EMO—FET 6 16.09 m|[_6[1212[A 3E& EaLLF 6 16.67
7[62903| 20 K KBJ [F#ACIr. () 6 16.26 1104|HSP EX EEEHST 6 DNS
1523 [J11E % AZSC 6 DNS 1704|RE =& BxIC 6 DNS
1]91910| AR EBE =E£ (& 6 14.14 6| 1]1200|fAE BE A 17 6 13.78
2(2708|=8 —# ANGEL ABILITY AC_ 6 14.48 2[1605|HIH FE JA—bxyk 6 13.85
3[1305[FEA Atk USHMeKSC 6 15.00 31216 AN BB HSIEAC 6 13.86
B[ 4(2924|EH & ABRIEILSC 6 15.30 B 4[1121[BH &5 HRJ 6 14.05
9| 5[1514[XAR & TIEREFRC 6 15.45 .5 [ 5lo1910[2F & =E=(%) 6 15.25
m|_6[1119|K#Z BEA HHEHESE 6 16.57 m|_ 6[1203[F4k A HIEAC 6 15.33
71216 (%Y &) AIBAC 6 16.99 7(2924;XH &A ABRFELLSC 6 15.90
| 151814 Pital |SHM 6 DNS 12901 A ST FHLUTFR 6 DNS
7|_1]2702|2H ERE [SvoE2J5 -k 6 13.88 8 1] 1801 1473 707 &A | IRICDIAC 6 13.15
2|62903[EH 1T# =#ACIr. () 6 14.41 2[1819]JII.LE Kk FULPEEFEIST 6 13.89
3[2901J1I0 g% H4ZRC 6 14.59 3[1301[#0H JRE JIXEAC 6 13.89
B[ 4[1200[ EF X EXRS 177 6 14.77 B 41228k ey 10015>&5> 6 14.64
.8 | _5[1121[5alN B HRJ 6 14.77 3 _5[1216[=& K& BEAC 6 14.71
m|_6|1216[EH FALL [HIEBAC 6 15.13 m|_6[2702|=1 ZABF [Sv EF5-k 6 15.30
712924|FH EEL ABBRILSC 6 15.89 71234k KB EFE_ 6 15.76
8112341 A8y Sty o 6 15.93 8162903 X/\K [l [m=#ACIr. ) 6 17.07
O 1|1311[ 1078 pEst LEFKSRC 6 14.47 1] 1104| 28 EIE ELX75) 6 13.01
2[2812 [ H %l =2WJIAC 6 14.73 2[1301|=% ﬁiﬂA JXEAC 6 13.63
3[1212[/\#k 3hZE FaLA 6 14.79 3[1801ZH & RIZDIAC 6 13.66
B[ 4[1228[/\iz Wl 10015&5> 6 14.91 B[ 41236 ZH R EHEL 6 15.27
7 |_5[1819|F&8 & FULEFSST 6 15.02 9 5[1212[58 1&E mLLFA 6 15.56
m|_ 6[1236|kKH & EHFEE 6 15.98 m|_6[62903|518 ==t REACIr. () 6 16.22
7|1301[fE4 K BEA |[OZXEAC 6 16.93 7[1523|AEH =& AZHSC 6 23.76
11121700 =5 RAAC 6 12.79 2 _1|1518|%0 =& = R 6 14.64
2[91910[#F B ==& 6 13.05 21305 /I\fs_=2= USHEKSC 6 14.92
31624 [EK HEE R)—AZ 6 13.60 3111935k FEDh HASR 6 15.24
1B 4|1305|HK KB |[UbHMcKSC 6 14.26 Bl 4[e62904[ILH F= RETFC(R) 6 15.25
2| 5[1119[#% TE HBE 6 14.59 9| _5|1624[E &FE R)—AX 6 15.98
m| _6]1704|%F& =N BixIC 6 15.26 m|_6]1212[/% [ZE LA 6 16.22
1104[/\L FHIE [EEH5T 6 DNS 712606 [ (PHE w4h  |=abE_/I\FER 6 16.66
3[_1[1200[=H ETE EXS 17 6 13.03 14 1[2901|ILA A= HLARC 6 13.90
2[1605[AJll LFE FAU—hXYE 6 13.37 2[1200]F& EX EXRS 177 6 15.58
31121 10K =3 HRJ 6 13.76 3[1234|BH LU [EEFE_— 6 15.88
B[ 4lototo[3aAd ==fH == (X 6 14.93 B[ 4[o1910[dbAk R =B(&E 6 16.00
9| 5[1104[BT &% EEH5T 6 15.24 .0 [ _5|1518[KE = H% 6 19.90
m|__6[2924[AF1L & RBRIELLSC 6 15.27 m|_6]91906| LI YKk |EBE(Z 6 |[OP|<14.14>
7[1216|@8 BA AIEAC 6 15.40 12161k £ AEAC 6 DNS
15 1[2702[{PHE BB [Sv b P5—-k 6 13.50
2[2919[& 1 =18 BeeX/Rh—Y 6 14.37
3[1121[1BF &k HRJ 6 14.87
B[ 4[2815|%H0 KHiE R=BILZR=Y 6 15.59
7 |_5[1216]fE XH HIBAC 6 15.89
m|_6[2924[85A& &F KIRERILSC 6 16.22
711234 [/vVi7 ig— =R 6 17.49
g | F= | K ﬁ ___FE® = SOFk
112170 = RAAC 6 12.88
R [ 2[1200]|=0 B4E EXS 17 6 13.00
B [ 3[1801[AY 1473 91 RICDIAC 6 13.15
4(1104| %8 EE EEH5J 6 13.24
B[ 5[2702[{FHE [REE [Sv E-F5—hk 6 13.29
1.8]_6[1605[All OF FAJ—hxvk 6 13.64
m|_7[1119|RI5¥ &5k YHAE 6 13.76
1624 5K B RU—LZR 6 DNS



RESULT

6FLZF 100m
Y7)%E
HE [ = K 2 Pl 2 i RS B = sl
1| 1]2702[EEWA & [SvEJ5—h 6 14.62 2| 1[91906|H = BHE(R 6 14.23
2]1523[h 8 B AZSC 6 14.83 2| 1203|/kE A% HEAC 6 14.26
3|1605|FMHA #EEE [FAU-FRvE 6 15.09 3[ 13059 @ #EdE UBPEKSC 6 15.27
B[ 4[1228[11FF 5% 10015>&5> 6 15.47 Bl 4]1212|FH EE  [EILEA 6 15.59
2.9 [ 5|1602|%@H #0%k FRAESRC 6 15.60 |3.1 | 5[1234[=ik ¥1t EFEFE_ 6 16.60
m|_6|1119|FE BJh HASE 6 15.88 m|_6[1121[FM FX HRJ 6 16.84
711234|/\}H_#0 EEE_ 6 16.79 7| 1119[ftE 348 HHAE 6 17.18
8|1518[#fH =& =k 6 18.58 8 1228|%% ifa 10015>2&35> 6 18.53
3[_1[1200|FH =& %2@“1:7 6 13.65 4| 1]1305[EEEr KK UBPEKSC 6 13.99
2|1301[3EK BA%Z JXEAC 6 14.45 2[1201[EK FE WRH>1=7 6 14.12
3| 2606|1Ef 3= EEE_/\FER 6 14.70 3|o1905[FE Fx FORACR) 6 14.77
B[ 4[1305[FmMA #&AP UBhEKSC 6 15.67 B[ 4[1301[dtE AL JZEAC 6 15.60
3.3 5[1228|F& B 10015 &3> 6 16.01 |3.4 [ 5|1119|AE & HAE 6 15.90
m|_6|1217|51F mx RAAC 6 16.26 m|_6[2812|Ef E=E =] AC 6 15.97
7|1119{PH & HHARE 6 16.50 7|1235[KE B JEEKA C 6 17.25
| | 8[1235[ % B EKAC 6 16.50 1120]¢ =H BEREYIRR-YLEE 6 DNS
5] _1[1602|5kEE 5 & FRAZESRC 6 13.89 6 1[2702[dtJIl &M% SvoES 95—k 6 14.50
2|91910| A Bk =6 6 14.65 2[ 130511l ¥E USHzKSC 6 14.51
3[1104[KXF HBZE EE557 6 15.02 3[1228|EE ¥R% 10015>&35> 6 14.82
B 4[1120[FEFR =5 BHREYTAA-VLED 6 15.85 B[ 4[1234[#EM 91 EEE_ 6 15.24
1.8 [ 5[1119]& &5 AR 6 16.08_|4.4 | 5|1602|MK tiE R AESRC 6 15.57
m|_6/1235|=l& BEF JtEKA C 6 16.72 m|_6|1618|EA =EH] NS E 6 15.62
7[1311[EF =% TEFKSRC 6 19.14 711121 EHF & HRJ 6 15.66
| 1228017 &7 10015852 6 DNS 8l1518|Bk & =@ 6 16.09
7|__1|o1906|IEF = HE(R 6 14.54 8| 1|1301|5%A @ksm |JAEAC 6 13.26
2[1801[&AR &8  |[BICHIAC 6 14.74 2[1236[fEE FE E0EE 6 13.82
3[2702|= F3R [y ETJ5—-hk 6 14.92 3[1305[#t F &S UBHEKSC 6 14.35
B[ 4[1228[#32T =& 10015>&5> 6 16.01 B 4[1217|E4 BE RAAC 6 14.53
3.2 [ _5|1518|EEAR FIHB =K 6 16.05_|3.2 | 5| 1212[&FK Bx LA 6 15.01
m|_6[1119|== OLE AR 6 16.09 m|_ 6[1203[kxH E& HIREAC 6 15.17
7112340 BW—F |=FF_ 6 16.37 7112281 <BZE 10015>&5> 6 16.13
8]1602 iE FRATESRC 6 18.12 8l11190[dkFH #=E HHBE 6 16.67
9| 1[1200|FEA % A5 177 6 15.25 10| 1[1120[F&E W3 EhREyIAR-YOEE 6 13.95
2|1216]/\k B2F HiEAC 6 15.56 2|[1702|EH BE=X EINTFYTIL 6 14.08
3[919005[HEH I ¥DRACE) 6 15.69 3[o1309[BE =T FSEELIST (3 6 14.65
B[ 4[1235|2R & JEEKA C 6 15.83 B[ 4[1201[HO XoOE  [REAS1Z7 6 14.78
3.9 5[1305[lA& FE UBPEKSC 6 15.99 [3.4 | 5[1228[&x &F 10015>&5> 6 15.03
m|_6[1217[J1ll&F &=AX RAAC 6 16.18 m|_6[1119[AF #% HHBE 6 15.37
712604|H¥ F F1E [(EMO—F¥>FT 6 16.40 7| 1618|HE F5MA SIS E 6 15.67
8l1119|=H #i= HHER 6 16.44 8|1235[5HF ﬁﬁ JEE/KA C 6 17.69
11| 1|91910[38H &= —E (= 6 14.59 12 1[2702| =8 = Sy ED5—-K 6 14.09
2[1120[LfE =fy EPREYIXR-VLED 6 14.90 2|1305(25747>F LA5|UBheKSC 6 14.58
3]1602[#R FEE FRAESRC 6 15.10 3[1234[la EH EEE_ 6 15.54
EB| 4|1618[FR =& SRS 6 15.77 B 4[1602|&H BX FRATESRC 6 16.41
5.6 | 5|1311|[EX F= ZEFKSRC 6 15.86_|1.7 |_5|1228|/\H BE 10015>&5> 6 16.61
m|_6[1119|MA ExE HMHEHEER 6 15.93 m|_6]|1119|{fH HE HEBE 6 17.10
7]1104BH =R EEHST 6 16.08 7[1121|% EE HRJ 6 17.12
811235[1LiA 2 JEEKA C 6 16.25 8|1518[Hh VAL  [EMtk 6 18.65
13[_1[1301 AR #l%x=x [JAEAC 6 15.26 14| _1|1217|HF.F A= RAAC 6 14.64
2[1305(f&m ZM UBHEKSC 6 15.31 2[o1005|E5H EIX FORAC(E 6 14.72
3[1228| K KX#¥F [10015>&5> 6 15.79 3[2708|a00 &= ANGEL ABILITY AC_ 6 15.58
EB| 4|o1906[FJIl BEE BE(R 6 15.87 B| 4|1236|F K KB SHEEE 6 15.65
3.1 _5[1801|AE L& RISHIAC 6 16.22 1.3 | 5[1301[faE ooh [JREAC 6 15.86
m|_6|1234[Kk& %H EEE— 6 16.23 m|_6[1119[ERI »=x [HHA% 6 16.44
7|1212[5xkH Fx F LI 6 17.62 7|1228|2X& Ex 10015>&5> 6 17.26
8[1518| A FBZE =Ek 6 19.40
15| 112014 %3P REH>1—) 6 14.13 16| 1]91910|EH =1¢ EEE) 6 13.89
2[1200[Z)1] /i BARY 177 6 15.13 2|1119[EH && HHEE 6 14.36
3|1518|EE ¢ = Htk 6 15.76 3]1602[%&A MHLA0 RAESRC 6 14.62
B 4[2812|ER (5 =SHJAC 6 16.95 B[ 4[1120|FEF &= EPRFIRR-YLEE 6 15.01
42| 5[1235[fH % JtE/KA C 6 17.33 |7.2 | 5[1104|EH B& EEH5T 6 15.14
m|_6[1119[{kkE k= HHAE 6 17.72 m|_6]1235[ILA #4E JEEKA C 6 18.01
1305[dE)I] TBE UBHEKSC 6 DNS 2924 |85 ¥ NS ) DNS
17| 19101071 B —£(& 6 14.11
2[1602|£H =& FRAESRC 6 14.48
31121 K BE HRJ 6 14.96
B| 4[1228[/kF =fE= [10015°&5> 6 15.22
3.5 5|1618| & E% SBEEE 6 15.25
m|_6[1119[FEH = HHABR 6 16.45
711104 [BE#F DaR EEH5J 6 16.46
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RESULT

E] e % % RS = A
1130154 8l JREAC 6 13.26
R [211200[HhH =@ EAR 17 6 13.49
s | 3123685 T EHETLE 6 13.89
4 1120[thiE@ wd SRR TIR-VDER 6 13.97
B 1305[%EEF Rk USheKSC 6 )
1.9 _6]1602 ﬁin?E S8 ERAZESRC 6 14.01
m|[_7[1702|EH B=% EMPYTN 6 14.13
82702 gm_%&g Sy ES 5K 6 14.19
- A—T>VBFBEELT) 100m
SCERES
B[ == | 2 Ed = i eSS K % e = sl
1[2702|Z%FA =ik Sy E 95—k 3 14.89 2] _1[1120|&HE &% Eh2EyIRR-VLER 3 16.04
2[1104[HE EH EEI5J 2 15.00 2[1121[FJIl EZT [HR] 3 16.21
3[1523[7e B AESC 2 15.43 3[2910[5FH ==& BEIIFELEFST 3 16.47
4127020 H & Sv B D5 —k 3 15.83 B[ 4[1801[hiE EH RICHIAC 2 16.49
5[2702[ERX *E‘?Hﬁ Sy E 95—k 2 15.94 |4.0 | _5|1615| 8 &4 JRCH(FS 3 16.70
6/1801[%F @= RICDIAC 2 16.03 m|_6|2702|fEH &= Sy 55—k 2 16.75
712702[db1 = Sv E 95—k 2 16.11 716158k 58 JRCH(F5 3 17.00
891906[FH]I| A BE(R) 2 16.51 12901|BK =& EHLLTF(E®R) 3 DNS
3| 1[62903|%&H HBE REACIr. () 3 16.33 4| 1|2702|FE =} SvoES )= 3 16.51
21104 [J11#% %0 EEI5J 2 16.62 2| 1301[{HH sk JXEAC 2 16.54
3[2702|B& =& Sy E 95—k 2 16.63 3[1120[#E4 K ZEX |gezryizi-vosm 3 16.72
4]1615|XH ¥ JRCHIFH 3 17.59 B[ 4[2901 HrmEEl A H{ZRC 2 16.73
5[62902|H= B A HERE>F-Z () 3 17.67 |3.3 [ 5[1701|)IL E =B J ACRE 2 16.79
6[2910|AtE AN EE/IEEIST 2 17.75 m| _6[1311[/1IE B4 REFKSRC 3 16.95
7162902|#5K SHEK HELF-Z (R) 3 17.82 712910 EH —& EENIELEIST 3 17.03
| 1201145 [Fi8 RES1"7 3 DNS 8[1104[ K M [EEP) 3 17.84
5] _1[2815[%H &KX N A=Y 3 17.18 6 1|1217|I00 BUK e AAC 2 17.09
2[1200[TfEx Bz2th [BARY 177 3 17.41 2[2924|EH EiE ABRIELLSC 3 17.15
3|2702|FF 418 s [SvEJT—hk 2 17.52 3| 2815|5IkF EHE =5 ZAR=Y 2 17.25
4[2702 17 HE @& [Sv Ed5-b 3 17.74 Bl 4|2812[/\E [EitE =8 AC 3 17.29
5/1104|fRIE SiE EEHS5J 2 17.87 _|4.0 [ _5[1301|=FE& FI— JREAC 2 17.36
6[2812[F&MR_Himk =) AC 2 18.04 m|_6|1514[%EER IR& TIEREFRC 3 17.51
7|1121|FH B HRJ 3 18.15 712815|/NH EIT R=AINZAR—Y 2 18.08
|| 8[1523|800 BE AZSC 1 20.34 811523[iEH A& AZSC 1 10.48
7| _1[1523[%F = AZSC 3 16.76 8| 1[1120|BE EA  |zeznizi-vssm 3 16.73
2(1514|H%B #E{E JIREFRC 2 17.00 2[62903|F%FH =8 R#MACIr. () 3 17.36
3[2815[88Z EABS |[h—AIAK—Y 3 17.11 3[1201[; xR 164 WHT1=7 3 17.41
4]1120[#0H BE— BRREYTRA-YLER D 17.27 Bl 411 EEREE HRJ 1 17.93
5[1514|1 && TIREFFRC 2 17.33__|4.4 | _5|2702[F BT Sy ES P55k 3 18.49
6|1217|FtE _&=m RAAC 2 17.46 m|_6]1201[FiH =& WHT1ZT 2 18.50
7|1201[ X F KiE WHS1Z7 2 17.63 712606|81H & EEE_/\FR 3 18.53
8[2910 %ﬁ e EE/EEI5T 3 17.89 1801|/H [FE RISHIAC 3 DNS
11281210 i =] AC 3 17.46 10[__1]1605|PfE =1 FA—RRvk 2 18.05
2|1301[EFH BT JZEAC 2 17.72 2[1615[fRO %%55 JRCH(FH 2 18.07
3[62904|d4¢ ZEIY REPTFC(F) 2 17.87 3[2606]|#=/I1 A FEEPE_/INER 3 18.34
412702BH & S ST 2 18.04 B[ 4[1801 ﬁ% A RIZDIAC 1 18.60
5[2606|&F iEA EEE_/\FER 3 18.15 2.3 | 5[1203|&F | A HEAC 1 18.60
6[1605[/]uth HEsSL 77\U Rryvk 3 18.27 m|_6[2812[;BH &w& =HE] AC 2 19.42
712702|IfA& T3-S [Sv E 05—k 2 18.45 7| 1801[iRE E& RICHIAC 1 20.01
812606 ﬁzs = FEEfEE _/INFER 3 18.54
162903t g SEACIr. () 3 17.34 12[ 1[2702[1tH e SvoES )5 -8 3 18.33
2[1301[FF 2@ JZEAC 2 17.55 2[2906[}BEF #< FE/\ 1 18.50
3[1819|E F FA SUlFE E55T 2 17.85 3[2702|ALL Kb SvES 5K 2 19.47
41301 FH &X JZEAC 3 18.86 B[ 4[1301[FE B JZEAC 2 19.78
5]62904 ﬁjﬁ‘ R RETFC(R) 2 19.11 |4.5 | 5[1615[#K IR JRCH(FH 1 19.79
61203 [N IEH HIEAC 1 19.47 m|_6[62903[/\K FkXEH [F=#ACIr. & 1 20.70
1217 [8BX — ZAAC 3 DNS 1301 FH &=3F JREAC 3 DNS
1]1228] L e 1001585y 4 17.01 14| 1[1100(5%M BSABRS |[eexroxi-voEs 3 17.58
2162903[#%)1| A =#MACIr. () 2 18.06 2[1605|3r8 FE VAV—bxyk 2 19.37
3|2702| A% BE Sv B 95—k 3 19.55 3[1301[AfR BX JXEAC 3 19.41
4[1120|hE 7 BR2HT-YDES 3 20.02 Bl 4[1120]/=4% {AF BT YDEE 3 19.62
5/1819|all &=& FULEFSST 2 20.17 |4.1 [ _5[2910[/NE & EE/IEE55T 3 19.93
61121/ B HRJ 2 20.22 m|_6|1615|&m =+ JRCH(E5 1 19.94
711301 [)\+ & JZEAC 3 20.35 711104|6H EZE [FEEH5T 2 20.03
1819|FA] 1 B?LIJ.II&t'Jﬂ 2 DNS
1]2606 /_\75 2] Fabes_ /PR 3 18.80 16| 1[1201/IN] ﬂ@rs WREH>1_ ) 2 19.76
2[2812[ &0 2 .E,HEJ AC 1 19.85 2[2910[EH EBEIELIST 1 20.68
3[1819[iEH W& FULEFHIST 2 19.97 3| 1514|3038 ,ina TIEREFRC 2 21.09
B 4[1311[E=H =ik TEFKSRC 1 20.61 B 4]1203[%O Iﬁﬁ HEREAC 1 21.87
.8 |_5[1605|fE4At fLF 2R = 20.65_ |4.6 | _5[1819[IH FULEFHIST 2 21.98
m|[__6][2606[i#FH HE EEPEE_/NFER 3 20.72 m|_ 6] 1104|A&AH ’cu BEEFI5J 1 22.25
711819[%¥%4F Esh nuw*roﬂ 3 21.12 7[2702[/N\if =2 SvoES A5 -k 1 22.31
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RESULT

- AT FBEELT) 100m
SLEK
HE [ = s = E FRESS K & I 2 = sl
1| _1]1605|ER &% 7AU—hxvk 3 15.65 2] _1[1121[pap 5= HRJ 3 16.32
2[1200[HF KBE EAXS 177 3 16.01 2[1121[HE B HRJ 3 16.74
3[1602|mE #F0 RAESRC 3 16.14 3[1801[&K = RICHIAC 2 16.78
B[ 4[2606[EE F0h  |[ESPE_/NFR 3 16.37 Bl 4[1301|Xdt ®=E JZEAC 3 16.89
7.0 | _5[1217[t B35 RAAC 3 16.61 |2.8 | _5|1615[04 & JRCH(F5 3 16.94
m|_6|2702|FH K& Sv B 95—k 3 16.83 m|_6|2702|=lF pAR _ [Sv ESF5—k 3 16.96
1801 (1% & RISDIAC 3 DNS 7|1602|KH # R AESRC 3 17.00
1121 [#AF TEi, HRJ 3 DNS 8| 1200[#3F L& EXS 17 3 17.01
3|_1[91906|fRH ZE4& BE(E 3 16.37 4] 1]91910[hdF FJ3 == (&) 3 16.95
2|2914|FF = ZOFRIIZ7 3 16.50 2|1602| FH K= EAESRC 3 17.10
3[1121[ARH = HRJ 2 17.40 31121 [@EELE HRJ 3 17.29
B[ 4[1200[AF BEE |[BEXS 17 3 17.43 B[ 4]1602[kHF == REARESRC 3 17.49
3.7 _5[1311|EH %&E ZEFKSRC 3 17.52 |4.3 | 5][2702|h&E BA4F [Svo P95k 3 17.69
m|_6|1401[Fs FkK E/EEEIST 3 17.70 m| 6]2916|%4 BE ERENFER 3 17.72
7|1301[=8& ZR JZXEAC 3 17.80 7112011 B&BEE [REZ1-7 2 19.26
| | 8l1200[4# =F S 1C 3 17.87 12154 121y HRJ 3 DNS
5| 1]62705|pull fE e/ Gr) 3 17.19 6| 1|1602|/=H f&ix RASESRC 3 17.78
2|1201|% F BAE WRET1Z7 3 17.46 2[1301]® EE JZEAC 3 18.16
3[1514[%8F EAl JIREFFRC 3 17.51 3[1801 4K Bl |[RICDIAC 1 18.60
B[ 4[1121|5H =4 HRJ 3 18.13 B[ 4[1615[ FF =R JRCH(F5 3 18.67
41| S5[1121[BF Baie HRJ 2 18.15 |1.4 | S5|1121|F%# FiF HRJ 2 18.77
m|_6/1401 (5% #A E/EEEIST 3 18.28 m|_6|1201[EH BEF WRH>1=7 2 18.84
712812|KJIl FiiF =) AC 2 18.29 71121 [HA EK HRJ 2 19.06
|| 8[1104[F fEEI57 3 18.32 1819[db/I] &= JUUEFSST 3 DNS
7| _1[1602[feE #&%H RAZESRC 3 17.84 8] 1[1602|EH <{3# EAESRC 3 18.11
2|1514[HER =W JIEREFRC 3 18.06 2[1200]|&E _BE EX 177 3 18.20
3|1602|&=H B R AZESRC 3 18.11 3[2812[#H FL2 =W AC 2 18.30
B[ 4[1301[EF &S JXREAC 3 18.12 B[ 4]1602|EER Ex RAESRC 3 18.56
49 S[1301|& =& JREAC 2 18.53 |2.5 | 5[1201[&Kk 2 WH>1=7 2 18.84
m|_6[1301[1I% BE JZEAC 2 18.74 m|_6|1602| 54X HiE RAESRC 3 18.86
711301 &8 F4 |[OXEAC 2 19.26 712812 &AM Z==E =W AC 3 19.42
811201 mE &)Y RHZ1-7 3 19.62 1702FFH FR ENT7vTIL 3 DNS
9 1[2812[SR BE =) AC 3 17.80 10| 1] 2812;kH MXE =t AC 3 17.84
2[1602[HF ¥ RAESRC 3 18.13 2(2924IRA _#&= ABREELISC 2 18.30
3[1523[AKRH & AZSC 2 18.16 3[1311 (= i’ ZEKSRC 3 18.42
B[ 4]2606[BH M EEIE_/\FER 3 18.21 B[ 4]1201]6H U5 WRH>1=7 2 18.86
3.4 5|1602|FIH F& R ARESRC 3 18.67 |2.8 | 5|1301|HF &% JREAC 3 19.18
m|_6]2702[3E11] X0mE Sv B 95—K 3 18.78 m|_6[/1104| EA WWB _ [EEI5J 2 19.43
7|2914[FH #F& COFRSIZY 2 19.11 7115144tk EERx TIEBEFRC 2 19.47
8| 1605 XI5 SBE FAU=Fxvh 3 19.22 8(2924iTH M2 ARFELNSC 3 19.53
11| 1|1605|%E71 1= FAU—pRxyh 2 17.95 12 1[1217[50H & RAAC 3 17.55
2[2914[th4t Fif& ZDRERI1Z7 3 18.04 2]62904|HI& &% REPTFC(R) 3 18.11
3[62904| EH AR RETFC(R) 3 18.08 3[62903|1LUH 4T =EACIr. () 1 18.20
B[ 4[1201[A&H &KX WRES1=7 2 19.16 B 4]62903[ K F ®&m FEACIT. () 2 18.57
4.4 [ 5[1819|XZx: B SUlPE E557 1 19.21 4.5 5|1602|AH & RAESRC 3 18.87
m|_6|1104|FaXx =g EEH5J 3 19.75 m|_6]2702[FFA 0k Sy Esd5-h 1 18.99
711121 #15 HRJ 1 19.96 711514|/RF =B TIEBEFRC 1 19.40
12901 =1 3 EHLLTFEE) 3 DNS 2606 [iBE E,;\B ESE_NFR 3 DNS
1311217 A& RAAC 3 17.25 14| 1| 1217NI =& RAAC 3 19.16
2|62003| B4t 28 FHACIr. () 1 18.43 2112175 #= FAAC 3 19.20
3[62904]F8F == FEPTFC(R) 3 18.60 3[2702|SH &HB  [SvoEIF—K 2 19.55
B[ 4[2702|6H mE Sy ES 95—k 3 19.50 m| 4| 1311[7)1 &0t ZEFKSRC 2 20.56
3.5 G[1121[ K%} #HS HRJ 1 19.89 0.8 | 5|1120[FFE @A EPREyIAR-VLER 3 20.88
m|_6|2815( =4iC N=AIZR=Y 2 20.27 m|_6[1121[TO feR HRJ 1 20.96
7162903|Z5H &0 =#MACIr. () 1 20.72 1119[{FE B HHBE 2 DNS
1819|that & ALLpE ST 1 DNS 62903[FF %) =EACIr. () 2 DNS
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RESULT

A-T>BF 4x100mR
EREEES
A= A=
HOE | BE K _& FE& i SRR I | FES | K % FE& i EHER |
. [71605[1E40 =KX FPAU—Rryh-A 41 1 71801 | pafE[ L JRIENDIAC-A 41
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